2025F 2023k B+ REFWRFSZFH4 Ak

] | BERAL | Bl | BRSO | SRR | ST | RS RS | &
23820019 | FIZMG | H¥P | H# dEEm | FARSAL | 2025 —% b4 | 18000
23820002 | w7k | FEAERE | B EEm | FARYAL | 2025 —% kg | 18000
23820012 | Eufif | FEERE | B dEEm | FARSAL | 2025 —% kg4 | 18000
23820004 | KB4 | FEERE | B EEm | FARSAL | 2025 —% bz g | 18000
23820011 | &% H 22 B e Em | AR [ 2025 —% ol [ 15000
23820015 | AREF | HPE e Em | AR [ 2025 —% ol [ 15000
23820009 | BRITUE [ HE2ERE e Em | EARAL [ 2025 —% ol [ 15000
22820020 | #44% bR e Em | AR [ 2025 —% ol [ 15000
23820006 | dHT K | HEEEBE e Em | AR [ 2025 —% ol [ 15000
23820016 | & e ey JEEm | AL | 2025 —% ke [ 15000
23820007 | HREFEL | HEZEBE | HE FEE N | FARFAL | 2025 =% kg | 9000
23820003 | TFHEF | R | ¥ JEE | FARFAL | 2025 =% kg | 9000
23820014 | s | H%¥Br | JEE | FARFAL | 2025 =% kg | 9000
21820271 | KRR | #2EBE | HE JEE M | FARFAL | 2025 =% kg | 9000
23820017 | FMIST | HEZEBE | HE JEE M | FARFAL | 2025 =% kg | 9000
23820018 | skahfE | H2ERE | %% JEEm | FARSAL [ 2025 =% kg | 9000
23820008 | RAER | HERE | HE JEE | FARFAL | 2025 =% kg | 9000
23820010 [ Pk R | HeE FEE N | FARFAL | 2025 =% kg | 9000
23820013 | dfFEE | HEERE | HE FEE M | FARFAL | 2025 =% kg | 9000
23820026 T2 HEERE | YR EEm | FARYA | 2025 —% a2 | 18000
23820033 | Z=Erik | H2ERE | 4R EEm | FARYA | 2025 —% a2 | 18000
23820037 | AEie | H2ERT | Y EEm | FARYA | 2025 —% k2 | 18000
23820025 | AR | HZERE | YRR EEm | FARYA | 2025 —% a2 | 18000
23820024 | ¥y g | Y Jwm | EAREA [ 2025 - e [ 15000
23820023 | xIEf | M | WH Jwm | EAREA [ 2025 - e g [ 15000
23820035 | Ffifgizm | HE2ERT | EE Jwm | AR [ 2025 - e g [ 15000
23820027 | ERM | H2Epx | E Jwm | AR [ 2025 - e g [ 15000
23820021 | FEAR | H2EBT | WHEE Jwm | AR [ 2025 - e g [ 15000
23820029 | 1 HEERE | YR EEm | FARYA | 2025 =% g | 9000
23820039 | skRPE | HZER | Y JEE M | FARFAL | 2025 =% b2z g | 9000
23820022 | LR | BB bl JEEm | AL | 2025 =% A4 | 9000
22820040 | FAET | HzEpr | YR JEE M | FARFAL | 2025 =% b2z g | 9000
23820036 | {F1E# | BEERE | EE JEE M | FARFAL | 2025 =% b2z g | 9000
23820020 | R/ZME | B | W3 JEE M | FARFAL | 2025 =% kg | 9000
23820030 | i S@F | HEERT | EE JEE M | FARFAL | 2025 =% kg | 9000
23820032 | B 7 bl JEEm | AL | 2025 =% A4 | 9000
23820038 | ikith P22 B FEEm | AL | 2025 =4 b g | 9000
23820044 | Mplhekh | MRt | b FEE M | FAREAL | 2025 —& 2z 4 [ 18000




23820058 [ Z=hfE HERE | EEm | FARSAL | 2025 —& iz 4 [ 18000
23820063 | ZpENC | BEYBR 1 AERE 7] FREEAL 2025 —% olkAes 4 | 18000
23820055 | EVEM | HREEBE == EEm | FARYAL | 2025 — 2k ol e [ 18000
23820053 | HA | HEEERE 1 AERE 7] FREEAL 2025 —% ol | 18000
23820051 | B BB | dEEm | FARSAL | 2025 —& kg | 18000
23820040 | XIHw: | HEERE | fk%E dEEm | FARSAL | 2025 —& kg | 18000
23820077 | RaZ | #HERE | 4% EEm | FARSAL | 2025 —& ol g [ 18000
23820042 | PMESE | BEAERE | ¥ e | RN | 2025 - ol [ 15000
23820071 | fREGE | PR | A e | RN | 2025 - ol [ 15000
23820041 | PMTFHE | HREERE | 4k2E e | AR | 2025 - ol [ 15000
23820068 | JEyLgE | BAERE | ¥ e | AR | 2025 =% k4 | 15000
22820039 | ZEEEE | BAERE | ¥ FEEm | FAREAL | 2025 =% b #E 4 | 15000
23820070 | Zegpavh | BEYBR = Ak 17 SREEAL 2025 —E b4 [ 15000
23820045 | TAME | BB = Ak 17 SREEAL 2025 —E Sz 4 | 15000
23820073 | REM | BB | % FEEm | FAREAL | 2025 =% b #E 4 | 15000
23820052 | ®HRZE | BEAERE | ¥ FEEm | FAREAL | 2025 =% b #E 4 | 15000
23820057 | A=A | HE%ERE | k2% FEEm | FAREAL | 2025 =5 b #E 4 | 15000
23820075 | sk | BEABR = Ak 17 SREEAL 2025 —E b4 | 15000
23820059 | B3l | BB = Ak 17 EREAL 2025 =% b A 4 9000
23820001 | Bk | BAERE | ¥ JEEm | FARSAL [ 2025 =% ol g [ 9000
23820060 | X1 e 1 JEE M | FARFAL | 2025 =% ol g [ 9000
23820046 | M=z | 2R = JExE 7] FREAL 2025 =% b 4 9000
23820050 |  HHvK HELE | eEm | FAREAL | 2025 =% g [ 9000
23820056 | ZEE 5 | MR | eEm | FARSAL | 2025 =% e [ 9000
23820072 | FEBEHE | BEZERE | ¥ eEm | FAREAL | 2025 =% g [ 9000
23820043 | 5 HERE | eEm | FAREAL | 2025 =% g [ 9000
23820049 [ TP AR = JExE 7] FREAL 2025 =% b W 4y 9000
23820064 | 2Py | BAERE | ¥ eEm | FARSAL | 2025 =% Pl e [ 9000
23820076 | gAY | HEBE | b eEm | FAREAL | 2025 =% Pl e [ 9000
23820065 | Tk4T B 2R 1 EEm | FARYA | 2025 =% e [ 9000
23820048 | JEi T AR = JExE 7] FREAL 2025 =% b W 4 9000
23820047 |  #ff HERE | FEEm | FARFAL [ 2025 =% G [ 9000
23820074 | &AE | ¥k | ¥ JEEm | FARFAL [ 2025 =% G [ 9000
23820062 | Ffi/bfin | BEEPE = AE5E 7 EREAL 2025 =% b I 4 9000
23820069 | Seisk | BRZERE | HF FEEm | FARFAL [ 2025 =% g4 [ 9000
23820066 | AT HERE | FEsEln | FAREAL [ 2025 =% b HEE | 9000




